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Use after completing page 87.

m TEST Name/Class

n Match the bottom note in the chord with the correct inversion.

Root a. 3rd inversion of V7 4-16
5th b. 2nd inversion
3rd c. Root position
7th d. 1st inversion
u Rewrite the following triads in open position.
Gen 3-15
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B Rewrite the following triads in 1st inversion. Use open position. Add the chord
symbols above the staff and the Roman numerals with figured bass below the staff. 3-15
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n Rewrite the following triads in 2nd inversion. Use close position. Add the chord
symbols above the staff and the Roman numerals with figured bass below the staff. 3-15
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B Write the 1st, 2nd and 3rd inversions for the following V7 chords. Use close position.
Add the chord symbols above the staff and the Roman numerals below the staff. 4-24
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n Rewrite the following chord progression using inversions so it sounds smoother.
Add the chord symbols above the staff and the Roman numerals below the staff.
Ab Db Ab Eb Ab 3-15
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RevIEW OF LESSONS 51-55 m

n An inversion of a chord In 1st inversion, the In close position, the notes
means the root is no 3rd of a triad is always on of the chord are spaced
longer on the . the . an octave.

Rewrite the following triads in the 1st inversion.
Add the chord symbol and the Roman numeral for each chord.
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E In 2nd inversion, the 5th of a triad n In open position, the notes of the chord
is always on the ' are spaced than an octave.

Rewrite the following root position triads in 2nd inversion.
Add the chord symbol and the Roman numeral for each chord.

Close Position
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n If the root is on the bottom of a triad, it is in . : n In close position, the roo

if the 3rd is on the bottom, it is in inversion; in 1st and 2nd inversions

if the 5th is on the bottom, it is in inversion. is the upper note of the

interval of a
m How many inversions are there of the V7 chord?
E7 E7/GH E7/B E7/D
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m Write the 1st, 2nd and 3rd inversions for % =

the following V7 chord. Use figured bass. &) —4 i
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m Chords that move from one to another, The three chords that contain all the notes

are called a . of the major scale are the

and___ chords.

m On the lower staff, rewrite the following chord progression using inversions so there is a common
tone between each chord. Indicate what position each chord is in, using chord symbols and
figured bass. Add the chord symbol and the Roman numeral for each chord.
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